290383

290215

290188

Manual Manual Sure-Flo Media Regulator (grit valve) 25 Ibs.

Normally Open, 9" Clearance Required

Automatic Automatic Sure-Flo Media Regulator (grit valve) 30 ibs.

Normally Closed, 9" Clearance Required- -

Conversion Kit Converts Manual Sure-Flo to Automatic 25 Ibs.

(includes item #15-32)

Manual Sure-Flo Regulator Parts

525451

1

2 OWoO~NOOL~WN

—_ =

13
14

525782
523592
523512
525792
525802
753692
552222
753092
551352
753632
753292
552052
552762
552542
552672
552382
551902
753372
290384
290211

Me

g tube, 3/8" ID roller bolt 1/2"
Metering tube, 1/2" ID Small-med Fine-med Back out roller bolt 1/2"
Metering tube, 3/4" ID Medium Medium Supplied as standard
Metering rube, 3/4" ID Medium Medium Use below 32° F. (red)
Metering tube, 5/8" ID Med-large Med-coarse -

Metering tube, 7/8" ID Large ' Coarse High Production use

Vaive body, 2" MPT

Boit, 7/16" - 14 x 1-1/4"

Roller stop/holder

Screw, 8-32 x 1/2" (2 per assembly)
Pinch roller (2 per assembly)
Flange, 2" MPT

Bolt, carriage, 3/8"-16 x 2-1/2" (4)
Lockwasher, 3/8" ID (6)

Nut, hex 3/8"-16 (6)

1/2" Jam Nut, (after 5/1/84)

7/16" Jam Nut, (prior to 5/1/84)
Bolt, hex 3/8"-16 x 3" (2)

Adapter, manual body, Sure-Flo
Handle assembly, 1/2"-13 x 4", (after 5/1/84)

Handle assembly, 7/16"-14 x 4" (prior to 5/1/84)

Manual Sure-Flo

Note: These fasteners used (2) places
to mount manual body adapter
to Sure-Flo adapter.

510 12~ 13 14

& R

EMPIRE (215) 752-8800

Page G1 PPB 8/97



